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(A)[JJ(Force)] ~ [J7AE(Moment)] (B)J3#E(Moment)] ~ [Z(Work)]

(C)[JI(Force)] ~ [ (Length)] (D)[Ji(Force)] ~ [Hi(Work)] -
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A TERTEL A ~ B ISR O (i il ks 2d ke d > A BMERIJIR/INE 2 F Bil X
Tl SRy 30" - B EMERIJIR/NE F 8 x e E. o NYIRGRAE A IR ?
(A% O Bh & IRy Fd(& 2 J71)
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CHh.z [z Jj(reaction)RefF AR EBDES o RAIRGHL [ AN TERE ?

(A)Rc=141.4N (B)AELHE H [ 7 FsAy =100 N([A]_I)
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(A){H AB ~ BC ~ CD -~ DE f#{%:

(B){H AB ~ BC ~ CD ~ DE ~ DH #£{4:
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(A)SO; (B)SiO, (C)MgO (D)CaO -
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(A)Pb30, (B)PbO (C)PbCO; (D)PbSO, -
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(A) e (B)EAF5HH (C)e (D)7KHHE -
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(QVIEIVE (B)#K (ChEK (D) =HALAEX) -
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(A)0.1 % (B)0.3 % (C)0.5 % (D)0.7 % -
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1.(8) 2(8) 3() 4(C) 5(C) 6.B) 7.C)
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11.(A) 12.(A) 13.(A) 14.(D) 15.D) 16.(A) 17.(A) 18.(B)
21.(B) 22.(C) 23.(B) 24.(A) 25.(C) 26.D) 27.(D) 28.(D)
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M=Fxd
W, ,,=FxS

Mo=W xd

C
Tc=5F«———>Tc=5F
(A)Mo=F x 2d—F xd
=Fxd
F,=2Fcos30°
( X
Fy:2Fsin30°—F=O
(C)Mo =2Fsin30° x 2d = 2Fd
(A)ZMa=0 = L RexL=100xL =Rc=1002

V2

(B) X Fy=0 3Ay+100\/?><%—100=0 — Ay=0
(C) S Fx=0 :szlooﬁx%ﬂoom)

cos? ¢ +c0s%45° +c0s%60° =1
=cosq =0.5
=Fx=Fcos ¢ =250 0.5=125(N)
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R,=200 R;=400
N=(P+W)cos @
f=(P+W)sin 9
u:fW:tanQ = 0 =tan ()
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(1)SFx=0 =Rg+Rg+2P—P—P=0 =Rg+Rs=0
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(2)6 =4 [~Re +(P—Re)—(P—Re)~Rol =0
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XA=7Y

—a[l—(1—a)’]=1x05—(1—a)’[1—

AiX;

1—a

]
14+a

:>a[1—(1—2a+a@)]=0.5—(1—al)2><T

— a[2a—a’]=0.5—

— 2a%—

a

1—a—a?+ad

2

s_ I-1+a+a’—a’

—a’—3a’+a=0
—a’—3a+1=0
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bh® _ 15x25°  9x17°
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A=15X25—9X17=222
|= 1 +AP?=15846.5+ 222 X 12.5?=50534(cm")

=15846.5

C A =637(N/cm?)
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4
4
6= E 210 g400 Njem?
200V)  2(140.25)
r =Gr Drzizﬂ:i(rad)
G 8000 40
:ixﬁ:1l43o
40 21
~ ABC—90'—1.43 —88.57°
245 3 2x245
SMs=0 =Rax3=(22 x3)x> Ra=45
B = Ra ( > ) 3[ 215 ] =Ra
vc=4.5—%x1=2(m)
Vp—45— ZLZ“ 2= —15(kN)
Ve —Ve|=3.5(kN)
(A) V=0 = =0
Bo=M _B _,_9_Y _ —00012x —0.0008
I p E p 15
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n=—=15 =hb=20+2x15=50cm
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T
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IRPURRGR RS Ko Wi /K57 = Feifd
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KRR R IR LM E SRR EE 2 R Al =Rk 260°C -
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